Complex Numbers - Q8 (22/5/21)

Exam Boards

OCR : Pure Core (Year 2)
MEI: Core Pure (Year 2)
AQA: Pure (Year 2)

Edx: Core Pure (Year 2)



Find the cube roots of —8 in cartesian form [8 marks]



Find the cube roots of —8 in cartesian form [8 marks]

Solution

z3 = 8(cosm + isinm) [1 mark]

z, = 2(cos (g) + isin (g)) [1 mark]
Zy = 2 (cos (g + 2?71) + isin (g + 2%)) = 2(cosm + isinm)

[1 mark]

T

z3 = 2(cos (§ + 4?”) + isin (g + 4?n)) = 2(cos (5?”) + isin (5?”))
[1 mark]

= 2(cos (— g) + isin (— g)) [1 mark]

V3

iezl=2(§+7i)=1+\/§i [1 mark]

Z, = —2 [1 mark]

l_ﬁ)

23=2(2 1 =1-+/3i [2°+8=0= z"isroot] [1 mark]



